
 

 

 

 

 .جواب هاي کلی معادله زیر را بیابید

𝟕𝟕𝐜𝐜𝐜𝐜𝐜𝐜𝟐𝟐 𝒙𝒙 + 𝟏𝟏𝟏𝟏 𝐬𝐬𝐬𝐬𝐬𝐬𝟐𝟐𝒙𝒙 = 𝟏𝟏𝟏𝟏 

 پاسخ:

 کنیم:را اضافه می 9به دو طرف معادله عدد 

𝟗𝟗 + 𝟕𝟕 𝐜𝐜𝐜𝐜𝐜𝐜𝟐𝟐 𝒙𝒙 + 𝟏𝟏𝟏𝟏 𝐬𝐬𝐬𝐬𝐬𝐬𝟐𝟐𝒙𝒙 = 𝟐𝟐𝟐𝟐 → 

→ 𝟗𝟗𝐬𝐬𝐬𝐬𝐬𝐬𝟐𝟐 𝒙𝒙 + 𝟏𝟏𝟏𝟏 𝐜𝐜𝐜𝐜𝐜𝐜𝟐𝟐 𝒙𝒙 + 𝟐𝟐𝟐𝟐 𝐬𝐬𝐬𝐬𝐬𝐬 𝒙𝒙 𝐜𝐜𝐜𝐜𝐜𝐜𝒙𝒙 = 𝟐𝟐𝟐𝟐 → 

→ (𝟑𝟑 𝐬𝐬𝐬𝐬𝐬𝐬 𝒙𝒙 + 𝟒𝟒𝐜𝐜𝐜𝐜𝐜𝐜 𝒙𝒙)𝟐𝟐 = 𝟐𝟐𝟐𝟐 → 𝟑𝟑𝐬𝐬𝐬𝐬𝐬𝐬 𝒙𝒙 + 𝟒𝟒 𝐜𝐜𝐜𝐜𝐜𝐜𝒙𝒙 = ±𝟓𝟓 → 

→
𝟑𝟑
𝟓𝟓
𝐬𝐬𝐬𝐬𝐬𝐬 𝒙𝒙 +

𝟒𝟒
𝟓𝟓
𝐜𝐜𝐜𝐜𝐜𝐜𝒙𝒙 = ±𝟏𝟏 → 𝐬𝐬𝐬𝐬𝐬𝐬(𝒙𝒙 + 𝟓𝟓𝟓𝟓°) = ±𝟏𝟏 → 

→ 𝒙𝒙 + 𝟓𝟓𝟓𝟓° = 𝟐𝟐𝒌𝒌𝟏𝟏𝟏𝟏𝟏𝟏° + 𝟗𝟗𝟗𝟗 →  𝒙𝒙 + 𝟓𝟓𝟓𝟓° = 𝟐𝟐𝒌𝒌𝟏𝟏𝟏𝟏𝟏𝟏° + 𝟐𝟐𝟐𝟐𝟐𝟐 → 

→ 𝒙𝒙 + 𝟓𝟓𝟓𝟓° = 𝒌𝒌𝟏𝟏𝟏𝟏𝟏𝟏° + 𝟗𝟗𝟗𝟗 → 𝒙𝒙 = 𝒌𝒌𝟏𝟏𝟏𝟏𝟏𝟏° + 𝟑𝟑𝟑𝟑°  
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